R 2 EEFT B RER (B 744 A DIRE)
(WAL ) (WAL )
X5y AL | WEE | R | W | W | 2% | RE X5y AL | s | s Y | Y | &% | RE

1 2 E=S = = E=S 1 2 = = E= =
3 4 3 4

SEH | 4RO | 13,780 | 1,950 780 | 390 | 650 | 650 | 390 SEH | ZFET | 10,600 | 1,500 600 | 300 | 500 | 500 | 300
F#% | 25,610 | 3,640 | 1,560 | 780 | 1,300 | 1,300 | 780 F#% | 19,700 | 2,800 | 1,200 | 600 | 1,000 | 1,000| 600
%W | 36,270 | 5,200 | 2,080 | 1,040 | 1,820 | 1,820 | 1, 040 & | 27,900 | 4,000 | 1,600 | 800 | 1,400 | 1,400 | 800
4H | 70,720 | 10,140 | 4,030 | 2,080 | 3,380 | 3,380 | 2, 080 4H | 54,400 | 7,800 | 3,100 | 1,600 | 2,600 | 2,600 |1,600
+WE | ZFRT | 21,970 | 3,120 | 1,300 | 650 | 1,040 | 1,040 | 650 0 | AT | 16,900 | 2,400 | 1,000 | 500 | 800 | 800 | 500
HA | /4% | 34,840 | 4,940 | 2,080 | 1,040 | 1,690 | 1,690 | 1,040 HA | 7744 | 26,800 | 3,800 | 1,600 | 800 |1,300 1,300 800
Uk &M | 46,280 | 6,630 | 2,730 | 1,430 | 2,210 | 2,210 | 1,430 UK % | 35,600 | 5,100 | 2,100 | 1,100 | 1,700 | 1,700 | 1,100
: 4H | 94,250 | 13,390 | 5,460 | 2,730 | 4,550 | 4,550 | 2,730 . 4H | 72,500 | 10,300 | 4,200 | 2,100 | 3,500 | 3,500 | 2,100
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